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ΑΠΑΝΤΗΣΕΙΣ 

 

ΘΕΜΑ Α 
1.γ 
2.β 
3.β 
4.Σ, Λ, Λ, Λ, Σ 
5. Λ, Σ, Σ, Λ, Λ 

ΘΕΜΑ Β 
Β1 
β, Κ1=3U1: t1=T/12, K2=U2: t2=T/8, Δt= t2  - t1= T/24 
Β2: β, (640Hz)    
Β3: α, (0,4π rad) 

ΘΕΜΑ Γ 
Γ1 
t1=2s, t2=3s, T=0,2 s, λ=0,5 s 
ψ=0,5συν5π.ημ2π(5t-12,5)=0,5ημ10πt  

Γ2  
ψ=0,3m>A , A΄=0,5m και ω=2πf=10π r/s  

ω=  ω 22 ΄ =  4π m/s 

Γ3 
t3=3s, υ3=5π m/s, t4=4s, υ4=5π m/s 
W=K4-K3=0 

Γ4  
t=37/12s >3s  
ψ=0,25m 

U

K
=

U

UE 
=3    

ΘΕΜΑ Δ 
Δ1  
Δm=0,9 Κg 
Δ2 
υ1=1 m/s, υ2=3 m/s 
Δ3 
Δψ=0,4 m 

Δ4 
h=0,4 m 

 


